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Aufgabe Al

Leite ab und vereinfache.
a) f)=(1+v3x)" b)
d) () =8(W3x+1)  e)
g) f(x)=xVx h)
i) g =@t2-1ve k)

Aufgabe A2

Leite ab und vereinfache.
a) f)=1-2x)-GBx+1)
d) gl)=@E>+x*)-(1-x)

Aufgabe A3
Leite ab und vereinfache.
a) fe)=Q@x+1)-

d) fx) =x-cos(x)
g)  g(t) = sin(t) cos(t)

Aufgabe A4

Leite ab und vereinfache.
a) f(x)=mx

d f=t &*-x)

g) fx)=x-g(x)

l

Q&fferenZIalre@Enun g

C AT % Tga’bénfﬂﬁtf :ab/e/ j:iggri AT Y

Pl [ > poter { wf lbvermlsebt‘emufgaben/ (-2 so \»/f |v > o Py

Level 1 - Grundlagen - Blatt 4

f) =2+ 1 —x)2 c)
f(x) =+/1—sin?(x) f)

fO=0*-4 -x*+1) ) fO=CE*+A-t?)
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f(x) = (sin(2x))?
f(x) =sin(v1 —x)
fO) = (2x - Vx
h(z) =z(z?> - 1)

f) =Gx-1D(4—08x)f) ()= (1+72)?

f(x) = x2Vx i)
9@ =+va(l-a) )
b)

e)

b) f) = -1-x%

e) f(x)=(@x%+1):sin(x)
h)  g(® = sin®t)

b) f(x)=ax?

e) fM)=t-(x*—x)

h)  fo)=(g@)

Q) fl)===
f)  g(x) =+x-cos(x)
i) g = cos*(t)

c) s()= %gt2
f) g@=t-x*-x)
) f)=g9'x)- gk
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Losung Al
a) fl)=2 1+V30) 2 = 2048
’ 1 -1 x—1
Cc) f'(x) = 2sin(2x) - 2cos(2x) = 4sin(2x) cos(2x)
d) f)=-83-(Bx+1) e =-36-(V3x+1)
—2sin(x)cos(x) sin(x)-cos(x)
©) [l =T ]
f)  f(x)=cos(¥1—x)- ( > \/ﬁ) = 60255/11_\/?)
9 f@=vVxtxo g =2 Vx
h) f'(x)=2x\/—+i =§x-\/§
i) f(x)—2\/_+2x1 _62x\/—§1
. 4t 1 20t%2-1
i) g(t)—8tx/’+ =
k) g'(@=57=- \/_ ==
5z2-1
|) h' ( ) = + ZZ\/— = W
Losung A2
a) f'x)=1-12x b) f'(x) =x(5x3—-12x+2)
c) f'(t)=-12t3-3t2+1 d) f'(x) =2x—4x3
e) f(x)=- T ) K@) =4r@?+1)
Losung A3
a) f()___2x+1 =_xi2
b)  f'(x) = e
c) f(x)-—x—x;;‘ =-3
d) f'(x) = cos(x) — xsin(x)
e) f'x) = 2x - sin(x) + (x* + 1) - cos(x)
f) g ( ) _ cc;.j/(_) \/Esin(x) _ 2xsm(;c\)/;cos(x)
g 40 = cos?(t) — sin?(t)
h) g'(t) = 2sin(t) - cos(t)
iy g = —2sin(t) - cos(t)
Losung A4
a) flx)=m b) f'(x)=2ax
c) s=gt d) fx)=t2x-1)
e) f=x*-x f) g@=0
9 f=g0)+x-9'x , h) f'()=290()-9'(x)
) ) =g"(x) g +(g'®)
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